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mm 6,376,388.0000 6,356,911.9462 0.033,367,00336 279,ooo.ooo

nfnin 1666 6,378,206.0000 6,356,583.6000 0.003,390,07530 294,978.698
c

flE&  1880 6,378,249.1450 6,356,514.8696 0.003,407,56137 293,465.OOO

1Lwtm 6,377,397.1550 6,356,078.9629 0.003,342,77317 299,152.813

twham7aA 6,377,276.3452 6,356,075.4134 0.003,324,44929 300,801.700

n
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e’ e12
e ez

(IlflW&) (aanw&)

0.081,991,8898 0.006,722,670 0.082,268,8896 0.006,768.1702

0.082,271,8542 0.006,768,658 0.082,551.7104 0.006,814.7849

0.082,483,3983 0.006,803,511 0.067,765,4264 0.006,605.1158

0.081,696,8298 0.006,674,372 0.081,970.8399 0.006,719.2186

0.081,472,9832 0.006,637,847 0.082,744,739X 0.006,682.2024

__-~--- -
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a = 6,378,388.000  6BJGl-S

b  =  6,356,911.946 bMl4

6,378,388.000 - 6,356,911.946
a 6,378,388.000
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5. %W~~EI~~~~“~W~ (The size and shape of the Earth)
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f (Flattening) = $ (a - b) = 1 - (1 - e2)t

a (semi - major axis) = b b= -
(1 - eqf l - f
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Rm =
a(1 - e2)

(l-e’ sin’l)!

&p6p3  I = 0”

R,, =  --a_

(1 -e’ sinY)f
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K&lli
-

Farmington

Sebatis

Independence

Agamenticus

Thomson

Manomet

Nantucket

a~~~~msntalalaw; dipll&8hl 8 alum'19

44” 40’ 12.06” 44” 40’ 14.31” + 2.25”

44” 08’ 37.60” 44” 08’ 36.68” - 0.92”

43” 45’ 34.43” 43” 45 ’ 32.47” - 1.96

43” 13’ 24.98” 43” 13’ 23.16” - 1.82”

42” 36’ 38.28” 42” 36’ 40.24” i 1.96”

41” S5’ 35.33” 41”

4.1 o 17’ ::::::’  j : ::;:”32.86”  j 41” ::I
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